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What is the highest number which when divides the numbers 1026, 2052 and 4102, leave 
remainders 2, 4 and 6respectively.
वह सबसे बड़ी संख्याकौन स़ी है जो 1026, 2052 और 4102 को ववभावजतकरने परक्रमशः 2, 4 और
6 शेषफल देत़ी है?

1)512
2)1024
3)128
4)256



Two trains are moving in opposite directions with speeds of 35 m/s and 45 m/s respectively. From 
the time they are 12km apart, how much time would they take to cross each other?
दो ट्र ेनें ववपऱीत वदशाओं में क्रमशः 35 म़ीट्र/सेकें डऔर 45 म़ीट्र/सेकें ड क़ी गवत से चल रह़ी हैं। जब
से वे 12 वकम़ी दूर हैं, तो वे एक-दूसरे को पार करने में वकतना समय लेंगे?

1) 2 minutes 30seconds
2) 2 minutes
3) 3 minutes
4) 3 minutes 30seconds



A customer was offered a discount of 40%on a piece of cloth. On insisting further, the shopkeeper agreed to 
a further discount of 20% on above. What was the effective discount offered to the customer?
एक ग्राहकको कपडे के एक टु्कडे पर 40% क़ी छूट् क़ी पेशकशक़ी गई थ़ी। अविकजोर देने पर दुकानदार
ऊपर से 20% क़ीऔर छूट् देने के वलए तैयार हो गया। ग्राहकको द़ी जाने वाल़ी प्रभाव़ी छूट्क्या थ़ी?

1)60%
2)48%
3)52%
4)54%



8 of 3 ÷ 6 + (10 + 2) × 3 − 96 ÷ 3 is:

1)7
2)9
3)10
4)8



If the difference between simple and compound interest on a sum of money for 2 years at 5% p.a is 
₹125, the sum(in₹)is:
यवद वकस़ी िनरावश पर 5% वावषिकक़ी दर से 2 वषि के वलए सािारणऔर चक्रवृद्धिब्याज के ब़ीचका
अंतर ₹125 है, तो रावश (₹ में) है:

1)50000
2)5000
3)10000
4)NOT



The radii of two cylinders A and are in the ratio of 5 : 6 and the heights are in the ratio of 7 : 4 
respectively. The ratio of curved surface area of cylinder B to that of A is:
दो बेलन A क़ी विज्याएँ 5:6 के अनुपात में हैं और ऊँचाई क्रमशः 7:4 के अनुपात में हैं। बेलन B के वक्र
पृष्ठ़ीय के्षिफलका A के वक्र पृष्ठ़ीय के्षिफल से अनुपात है:

1)35 : 24
2)24 : 35
3)49 : 35
4)35 : 49



A shopkeeper purchased 120 pears for ₹15each. However, 10pears were rotten and thrown away. 
The remaining sold at ₹18 each. What will be the percentage profit?
एक दुकानदार ने ₹15प्रते्यकमें 120 नाशपात़ी खऱीदे। हालांवक, 10 नाशपात़ी सडे हुए थेऔरफें क
वदए गए थे। शेष ₹18 प्रते्यक पर बेचा गया। प्रवतशत लाभक्या होगा?

1)20%
2)10%
3)50%
4)30%



If LCM of two numbers 390 and 420 is 5460, then the HCF of two numbers is:
यवद दो संख्याओं 390 और 420 का LCM 5460 है, तो दो संख्याओंका HCF है?

1)35
2)45
3)30
4)42



In a school there are 550 students. The ratio of the boys to that of the girls is 6 : 5.How many more 
girls should join the school so that the ratio becomes 5 : 6?
एक सू्कल में 550 ववद्याथी हैं। लडकोंका लडवकयो ं से अनुपात 6:5 है।और वकतऩी लडवकयो ंको
सू्कल में शावमल होना चावहए तावकअनुपात 5:6 हो जाए?

1)25
2)170
3)50
4)110



At the rate of 8% the amount invested earns a simple interest of ₹240 after 3 years. If the rate of 
interest been 5% more, then how much more interest would it have earned?
8% क़ी दर से वनवेशक़ी गई रावश पर 3 वषों के बाद ₹240 का सािारणब्याज वमलता है। यवदब्याज
क़ी दर 5% अविक होत़ी, तो उसे वकतना अविकब्याज प्राप्त होता?

1)₹105
2)₹180
3)₹150
4)₹135



Two pipes P and Q can fill an empty tank in 20 min and 10 min respectively. R can empty a full tank in 15 
minutes. If all three pipes are opened together, how much time (in minutes) will they take to fill the tank?
दो पाइप P और Q एकखाल़ी ट्ैंक को क्रमशः 20 वमनट्और 10 वमनट् में भर सकते हैं। R एकभरे हुए ट्ैंक को
15 वमनट् में खाल़ी कर सकता है। यवद त़ीनो ं पाइपो ंको एकसाथखोल वदया जाए, तो उन्हें टं्क़ी को भरने में
वकतना समय (वमनट्ो ं में) लगेगा?

1)12
2)18
3)10
4)15



The average weight of 38 students is 42 kg. It was found later that the figure of 46 kg was misread as 26 kg in 
one of the readings. What is the correct average? (correct to one decimal places)
38 छािो ंकाऔसत वजन 42 वकलो है। बाद में यह पाया गया वक 46 वकग्रा के आंकडे को एक ऱीवडंग में 26 
वकग्रा के रूप में गलत तऱीके से पढा गया था। सह़ीऔसतक्या है? (एक दशमलव स्थान तकसह़ी)

1)42.5 kg
2)45.5 kg
3) 39 kg
4) 44 kg



In an examination, there are 800 boys and 600 girls. 40% boys and 60% girls passed the examination. The 
percentage (correct to two decimal places) of failed students from the total students is:
एक पऱीक्षा में 800 लडकेऔर 600 लडवकयां हैं। 40% लडकेऔर 60% लडवकयो ं ने पऱीक्षा पासक़ी। कुल छािो ं
में से अनुत्त़ीणि छािो ंका प्रवतशत (दो दशमलव स्थानो ं तक सह़ी) है:

1)52.34%
2)50.36%
3)51.43%
4)53.57%



Kartik’s father age is four times the age of Kartik. Three years ago, Kartik’s father age was seven 
times the age of Kartik. The present age of Kartik is:
कावतिक के वपता क़ीआयुकावतिक क़ीआयुक़ी चार गुना है। त़ीन वषि पहले, कावतिक के वपता क़ीआयु
कावतिकक़ीआयुक़ी सात गुना थ़ी। कावतिकक़ी वतिमानआयु है:

1)12 
years B 
6 years 
C 9 
years

2)D 8 
years



75% of 260 + 30% of 320 = ?

1)A 301
2)B 271
3)C 281
4)D 291



Marked price of a shirt is ₹2000.If shopkeeper declares successive discount on shirt of 10% & 25%, 
the selling price (in₹) of shirt is:
एकशट्ि का अंवकत मूल्य ₹2000 है। यवद दुकानदार शट्ि पर 10% और 25% क़ीक्रवमक छूट्क़ी घोषणा
करता है, तो शट्ि का ववक्रय मूल्य (₹ में) है:

1)1350
2)1250
3)1650
4)1300



A is 1.5 times as efficient as B. A & B together complete the work in 12 days. In how many days, A 
alone can complete the work?
A, B से 1.5 गुना कुशल है। A और B वमलकरकायि को 12 वदनो ं में पूरा करते हैं। A अकेला उसकायि को
वकतने वदनो ं में पूरा कर सकता है?

1)20 days
2)26 days
3)24 days
4)27 days



The average of 21 data is 36 out of which the first 12 data are having an average of 15. The average 
of the rest 9 data is:
21 डेट्ा काऔसत 36 है वजसमें से पहले 12 डेट्ा काऔसत 15 है। शेष 9 डेट्ा काऔसत है:

1)87
2)65
3)64
4)50



Three successive discounts of 20%, 20% and 30% are offered on an article. If the marked price of 
the article is ₹750, then what will be selling price?
एक वसु्त पर 20%, 20% और 30% क़ी लगातार त़ीन छूट् द़ी जात़ी है। यवद वसु्तका अंवकत मूल्य ₹750 
है, तो ववक्रय मूल्यक्या होगा?

1) ₹326
2) ₹375
3) ₹348
4) ₹336



The sum of the present ages of a father and his son is 78 years. After five years, the ratio of their 
ages becomes 7 : 4. What is the present age (in years) of the father?
एक वपताऔर उसके पुिक़ी वतिमानआयुका योग 78 वषि है। पांच वषि बाद, उनक़ीआयुका अनुपात
7 : 4 हो जाता है। वपता क़ी वतिमानआयु (वषों में) क्या है?

1)45
2)51
3)56
4)50


